Subtracting 2-digit numbers from 3-digit numbers
Sheet 1

Set A

1{]D—EE:D 1&]—?32@ 1DD-5?:D
N R g R

Set B

1DE—94=O 1DEI—EIE=O 1D?—51=O

1DS—'3EI=D 1DE—QE=D 1D4—52=D

Set C

194-35:(3 103—3920 112—54:O
114—53:0 114—35:0 112—EE:O

Challenge

The baby” numiber has a 13 digit that s 1 more than the 13 digit of the big numiber.
The 1a digit in the andwer B absays the sarme. What s it?

Suppose the Baby” number has a 13 digit that B 2 mare than the 1 digit of the big
nurnber? What is the 13 digit in the answer thent
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